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1. ¦¢�g.Q(x1, x2, x3) = 2x1x2 + 3x2x3 + 4x1x3�5�/µ

.

2. �5�§|

 a 1 1
0 1 1
0 0 1

 x1
x2
x3

 =

 b
2
1

k)�¿©7�^�´µ .

3. �F��ê�§A ∈ Mn(F )§r(A) = r < n§K©¬Ý


[
A A
A 3A

]
��-IO

/�µ .

4. �C�Eê�§A ∈ Mn(C)§e¡À�¥U¦A�qé�z�k "

£1¤A÷vA2 + A = 0¶£2¤A�é¡Ý
¶£3) Akn�A��þµ£4¤A�

Üué�
.

5. f�mW = L(

 1
0
2

 ,
 2

1
5

) 3R3¥���ÖW⊥ = .

6. �Ý
A =

 a 1 1
1 a 1
1 1 a

 ��½�Ý
§Ka����µ .

7. �α1 = (4,−1, 8)§α2 = (1, 2, 3)§α3 = (3, 1, 1)��mÃ���IX¥�n��

þ§K±α1, α2, α3�c�²18¡N�NÈ�µ .

8. ®�mÃ���IX¥�:A(0, 1,−1), 9ü��þα = (−1, 4, 2), β = (1, 2, 3).

KL:A���þ�α× β����IO�§�µ .
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9. �σ�n��5�mVþ��5C�§σ���r, 0 < r < n, �÷vσ2 = σ§

Kσ�A�õ�ª�µ .

�!O�KÚy²K£�64©¤

10.£14©¤�A =

 0 3 0
3 0 4
0 4 0

"¦���O�x = Qyò�g.Q(α) = xTAxz

�IO/.

11. (18©) �σ�ê�Fþ�5�mVþ����5C�§σ3V�Äα1, α2, α3,

α4e�Ý
�

A =


1 −1 0 1
0 0 1 0
1 −1 −1 1
1 −1 −1 1

 ,
©O¦Im(σ)§ker(σ)§ker(σ) ∩ Im(σ)�Ä.

12. (12 ©) ®�ê�Fþ��5�§|

 1 2 1
2 3 λ+ 2
1 λ −2

 x1
x2
x3

 =

 1
3
0

 . ¦�λ�
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13. (12©) 3Eê�Cþ��5�mMn(C)S½Â���5C�σXeµ

σ



a11 a12 · · · a1n−1 a1n
a21 a22 · · · a2n−1 a2n
· · · · · · · · · · · · · · ·
an1 an2 · · · ann−1 ann


 =


a12 a13 · · · a1n a11
a22 a23 · · · a2n a21
· · · · · · · · · · · · · · ·
an2 an3 · · · ann an1

 ,
(1) ¦σ�A�õ�ª.

(2) y²σ�Ý
�±�qé�z.

14. £8©¤�W�ê�Fþ�n��þ�mF n�f�m§�W 6= F n. y²µW�Fþ
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